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QUESTION: 1
Refer to the exhibit.

Default:
10.100.0.0/16

Secure:
10.101.0.0/16

Dev:
10.102.0.0/16

Dsfault Secure Dev

Aruba CX 6300 switch has routes in three different VRFs as per the example above. The user
needs to leak routes between VRF Secure and VRF Dev. and also between VRF default and
VRF Dev The customer Is not able to establish routing between directly connected networks
10.100.50.0/24 and 10.102.26.0/24 Which statement is true regarding the routing
troubleshooting?

A. Multi-protocol BGP routing needs to be defined for route leaking

B. Route Distinguisher needs to be set to 1 for default VRF.

C. Route leaking is supported between non-default VRFs only

D. Route leaking between default and non-default VRFs is supported with Aruba CX 8400.

Answer(s): A

QUESTION: 2

You have created an OSPF neighbor configuration with ArubaOS-CX 8320 VSX and a third-
party switch The OSPF peering falls. In the event togs you see the following entries. 2020-10-
28:03:14 20.371489|hpe-routing|LOG_WARN|AMM|1/5j0SPFV2|OSPFV2i0OSPF 268698624
Packet received with unexpected authentication type 2020-10-28:03:14.20.371503|hpe-
routing]LOG_WARN|AMM|1/5|0SPFV2|OSPFV2|Expected authentication type = 0 Which
statement is true about the above events?

A. The ArubaOS-CX switch requires plain-text authentication with OSPF.

B. The third-party switch should be configured with MD5 authentication

C. The ArubaOS-CX switch does not expect authentication with OSPF.

D. The third-party switch should be configured with key chain authentication

Answer(s): D

QUESTION: 3
When applying me following access-list to an ArubaOS-CX 6300 switch:
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10 permit tcp any RADIUS-SERVERS group WEB-PORTS log
20 permit udp any any group DHCP-PCRTS log

30 permit udp any any group DNS-PORTS log

40 permit icmp any RADIUS-SERVERS lcg

50 deny tcp any MANAGEMERT-SERVERS log

€0 deny icmp any MANAGEMENT-SERVERS count

70 permit udp any MANAGEMENT-SERVERS eg 162 count

580 permit udp any MANAGEMENT-SERVERS eg 5% log

How does this ACL behave on the selected switch? (Select two.)

A. The mp traffic to MANAGEMENT-SERVERS group is logged to me event logs

B. The tftp traffic to MANAGEMENT-SERVERS group is not logged to the event logs.

C. The snmp-trap traffic to MANAGEMENT-SERVERS is logged to the event togs.

D. The denied tcp traffic to the MANAGEMENT-SERVERS group is logged to event logs.

E. The denied tcp traffic to the MANAGEMENT-SERVERS group is not logged to event logs

Answer(s): B, E

QUESTION: 4

The customer is considering Implemented the following VSX configuration that will host an
Aruba mobility cluster servicing 9000 dual stack employee devices. The client's default
gateways will be hosted on the VSX stack. The customer is seeking advice about how to ensure
ArubaOS-CX VSX best practices have been applied.
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